OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEIERIOKE (LR - Rl - RRA RER)
®1-4 WERFRG - EEH

1/ 1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
i1
B K& Ejj%
T Tk =5
i1 WHET s [ mm [ op | xm | ok | m s | ent | 2= | Kk |en| s | B8P | 1w | mx | ax [EFZ| o | ewm
5 m | @ B

32| e —~EHy 1 0 1 1 0 0 0 1 0 0 0 320 320 0 0 0 320
40|y 1 0 1 1 0 0 0 1 0 0 0 37 37 0 0 0 37
A&t 2 0 2 2 0 0 0 2 0 0 0 357 357 0 0 0 357

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (LWRER - BRREER)

®1—4 EERFER - EE5
1/ 1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
i1
‘ - o
T Tk =5
i1 B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 m | @ B

23|54 FF o V4R 1 1 1 1 0 0 0 1 1 0 1 0.91 0 0 0 0.91 5.5 0 5.5 6.41
32| ) e —~FHy o ol 2l 2l o of of 2 o o o 110000 0 0 o| 110000 0 0 o| 110000
438X FLFoaL Y i2[ o] w3 w2l of o o 2| o] o] e 374 0 0 0 374 0 0 0 374
55t 15 1 16 15 0 0 0 15 1 0 1 110374 0 0 0 110374 0 0 0 110374

PRHFE « TAS1FE




ORHHHERUBHEDOTRIEEMEREETER
1. BEH - BEEROEET (LWER - 88 - 72132 - fAREEH)
£1—-4 FEFER - £33
(1 /1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
b7
= - =
T K3 =
nE WEE s | oo | en | ke | ok | tm | ma |as | 2 | & |2st]| x5 | 28F | tm | s | a2t | B®2 | Ko | a#
438X FLFooL Y 1 of 1 of o] o of o] e 190 0 0 0 190 0 0 0 190
ﬁé-l- 1 0 1 1 0 0 0 1 0 0 0 190 0 0 0 190 0 0 0 190

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (LWRER - KR - Z0fbDliERREIESR)

®1—4 EERFER - EE5
1/ 1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
ity 7
‘ - o
T Tk =5
i1 B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
s w | H o
wilxy (x> TFLY) =FPALFLT—F 1 0 i 0 1 of o 1 of o] o o 3300 0 of 3300 0 0 0 3300
W (TIVFIVEDRFEN1 20515 F
TDEDRRUVZDEEWICIRS, )
53|21y TFEYROGZOIEEY 1 of 1 of 1 of of 1 of of o 0 200 0 0 200 0 0 0 200
= 2 0 2 0 2 0 0 2 0 0 0 0 3500 0 0 3500 0 0 0 3500

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEIERIOKE (LR - At - KEBBER)

®1—4 EERFER - EE5
1/ 1R=%)

s&mE BEEEFH() B AR (1) BB (1) HEH R (ko/ 550" {142 4ng-TEQ/ %) BRI ko/TES SV
B 75
% - o
T K3 =5
i1 B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 m | @ B
186[C oA sy (MBEIAFLY) 1 of 1 of o] o of o] o] 4300 0 0 of 4300 0 0 of 4300
300 ML 1 0 1 1 0 0 0 1 0 0 0 990 0 0 0 990 0 0 0 990
A&t 2 0 2 2 0 0 0 2 0 0 0 5290 0 0 0 5290 0 0 0 5290

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (LWRER - RE - RIERBER)

®1—4 EERFER - EE5
1/ 1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
-7
Z1 X T &%
) M i | mm | oo | xm [ ok [ tm | ma |ant | = [ & |ast| x5 | Z5F | 1w | mun | ax | BRD | Ko | e
&S w| @ AL B
M4 A xS VER 1 1 1 1 0 0 0 1 1 0 1 20 0 0 0 20| 0.0068 o[ 0.0068| 20.0068
55t 1 1 1 1 0 0 0 1 1 0 1 0 0 0 0 0 0 0 0 0

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER
1. BEH - BEVERIOSRET (WBER - /LT - i - I TRELER)
®1-4 WERFRG - EEH

1/ 1R=%)

SELIL BEFEFH() BRI () BEAR () et B (ko/ B 9" (14 $Ridng-TEQ/ %) BRR(ko/F ) ORI
Fit -5
T 0&
g ME £ s | w0 | 2o [ xm | ok | tm [ma | an | = | & | an att at
= Y B
PZE] B e SZ | 1 1 1 1 0 0 0 1 1 0 0.019 0.1
334|4 —E ROX S REEMAFIL | o | 1| o o o 1| o o 1 1
wil®y FEvzFLy) =7uxaz—>| | | o ] o of of [ [ o 0 1
W (TIVFIVEDRFEN1 20515 F
TDEDRRUVZDEEWICRS, )
WBYIXFIFTHLY 2 0 2 2 0 0 0 2 0 0 48 48
M XFLYER (4, 1—71=LY) =% 0 0 1 0 0 0 0 0 0 0 0 0
AVITR—b
A5t 5 2 6 5 0 0 0 5 2 0 49 49

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEIERIOKE (LRR - AR - IR - RREEESR)
®1-4 WERFRG - EEH

1/ 1R=)

e BEERFE (W) () BRI (1) Bt B8 (ko/ 447 414573 dng-TEQ/ ) BRI ko/TES SV
B
5 - o
T Tk =5
i1 M gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
s w | & B

300 ~MJLT Y 1 0 1 1 0 0 0 1 0 0 0 7200 7200 0 0 0 7200
3B X FIFTHL Y 1 0 1 1 0 0 0 1 0 0 0 8 8 0 0 0 8
A&t 2 0 2 2 0 0 0 2 0 0 0 7208 7208 0 0 0 7208

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER
B - BEVERIOEEY  (WRR - E2IH)

®1—-4 EEFER - F*iE5
(1 /) 4=—3)

sEmE BEFLIE () T ) BB () HEHR (ko4 5" 41493 3ng-TEQ/ ) BHE e/ IR
Bely- T
T 7 =a
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 w| E B
@EDKAEMEEY 1 0 1 0 1 0 0 1 0 0 0 0 45 0 0 45 0 0 0 45
A7) EER O FDKARMIE 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 799 0 799 799
672 JILEE2 —E ROFSITFIL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 0 0
N7 YILBEIIL<IL—TFIL 1 1 1 1 0 0 0 1 1 0 1 7 0 0 0 7 76 0 76 83
8|7 VILEEXATFIL 1 1 1 1 0 0 0 1 1 0 1 400 0 0 0 400 3600 0 3600 4000
M7+ Y™y A 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BlF7Er=MY )L 3 6 6 3 0 0 0 3 6 1 7 2383 0 0 0 2383 29770 1500 31270 33653
6|2, 2 —PYERAYVTFO=-rYIL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 5 0 5 5
8|7y LTI a—) 1 2 2 1 0 0 0 1 2 0 2 650 0 0 0 650 3270 0 3270 3920
VEHTILFILARYE Y LR y@& X2 D 1 1 1 1 0 0 0 1 1 0 1 550 0 0 0 550 1500 0 1500 2050
1B (TILFIVEQRFEN 1 00514 &
TREDRVZDEGYICRD, )
374, 4 —4qvyTFAEYFyI I/ —) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 0 0
BEERT T/ —IVA)
w4l oy ARUZDIEEY 1 0 1 0 1 0 0 1 0 0 0 0 2 0 0 2 0 0 0 2
BN= (1 —zFLFOFL) —2, 6= 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 460 0 460 460
—hA=-3, 4%V VY BIEBRVF
AIX5IY)
50S—TFIL=AxHE RO—-1H-F7EL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 16 0 16 16
i;1—ﬁwﬁ%#7—h(%%fU*—
sBlrFixvEy 2 2 2 2 0 0 0 2 2 1 3 355 0 0 0 355 6300 37 6337 6692
BN1—-—F94%)—)L 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
80|1F> L v 3 2 3 3 0 0 0 3 2 1 3 339 0 0 0 339 4180 18 4198 4537
8|7 A LRU=MY OLLEY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1100 0 1100 1100
10012—s00—2" , 6 —YIFI—N— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 9 0 9 9
(2=7ARF>ITFIL) PFEIMNTZUKR
GEFLFZ70O-)b)
123|3 —soo7Fo~y (B&EELETYIL) 1 1 1 1 0 0 0 1 1 0 1 62 0 0 0 62 630 0 630 692

PRHFE « TAS1FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (WRER - b2IX)

®1—4 ZEFER - &5
(2 /) 4=—3)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
B -7
T K3 =1
g ME £ gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
= £/ B e
12717 00V L 1 1 1 1 0 0 0 1 1 0 1 300 0 0 0 300 8200 0 8200 8500
128/ omx sy (RIZEEXFI) 1 0 1 1 0 0 0 1 0 0 0 5 0 0 0 5 0 0 0 5
134|BERE E = )L 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 21 0 21 21
148N, N—YTFIL—3— (2, 4, 6—h 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 0 0
YAFIT T RIEKEZI) —1TH-1
, 2, A=RKYTV=Ib—1—HIKRFY
SN BIEHZRO—))
150(1, 4 —THFH> 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 o| 14000 o| 14000 14000
152[1, 3—CHUNREASAILFA—2— (N, 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 0 0
N=—UXFITI/) —FanRy (Bl&Ah
Wy v F)
172[3—= [1= (3, 5—<40R71T=L) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 3 0 3 3
—1=XFIITFIN] -3, 4—Ik O
—6—AF)—5—-7x=JLb—2H—1,
S3—FdxHTv—4—-FY REAFHY
yaXHRV)
174[3 - (3, 4—vsO007z=JL) —1— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 33 0 33 33
x¢#>—1—x%»ﬁ$(%%uzzu
M
186|Corooxyy (AEEIEXFLY) 6 3 6 6 0 0 0 6 3 0 3| 36904 0 0 o| 36904 17900 o| 17900 54804
(B PZ7m B i 1 1 2 1 0 0 0 1 1 0 1 970 0 0 0 970| 23000 o| 23000 23970
2072, 6—v—9—2vy—FFIL—4-24 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 15 0 15 15
LY=L
213|N, N=SAFILT7ERNTIR 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 ol 12000 o| 12000 12000
22|N, N=SAFIURILAT IR 1 2 2 1 0 0 0 1 2 0 2 2200 0 0 0 2200 51000 o| ste00[ 53200
239|551 2 L&Y 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 356 0 356 356
I EEI 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 16 0 16 16
03[ 4 A% v5E 1 0 1 1 0 0 0 1 0 0 0 0.19 0 0 0 0.19 0 0 0 0.19
NNy TFLTIY 1 1 2 1 0 0 0 1 1 0 1 1500 0 0 0 1500| 24000 o| 24000 25500
298| N LYTSA YT R— N 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

PRHFE « TAS1FE



OBELBIHERUVBHEONRILFMERIRFHER

1. e - BEERIORET (LWRE - L2 IH)
x®1-4 #HEFER - FEH
(3 / 4=—=")
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
BT
E| T Tkig o
7] 0&
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= | & B

00| ML Y 7 7 7 7 0 0 0 7 7 2 9 23334 0 23334 414980 144 415124 438458
2(FT7HL Y 0 1 1 0 0 0 0 0 1 0 1 0 0 0 9 0 9 9
304|8A 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
305481t &4 1 1 1 1 1 0 0 2 1 0 1 0 1 1 70 0 70 7
09— T ILbEY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 600 0 600 600
3232, 4—ER (TFNTI/)) —6—XAF 0 1 1 0 0 0 0 0 1 0 1 0 0 0 3 0 3 3

WF4—=1, 3, 6=~ U7 (BIEY

XhYV)
36l rOxs v 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0
3VIN—-F=J)—2—-FOY Ry 0 1 1 0 0 0 0 0 1 0 1 0 0 0 940 0 940 940
ey y 1 1 2 1 0 0 0 1 1 0 1 13 0 13 3 0 3 16
MIIN=Zxz=)<wLA3IR 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
3M9l7 /) —)L 1 1 1 1 0 0 0 1 1 1 2 1800 0 1800 44000 14 44014 45814
1| 7FI=(R) —2—[4— (4—=>F7) 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

—2=7)A07z/F%Y) 7/ %]

)7°|:| Ex+—bt Bl&>/N\OKY TTFI
341 —ToEFO/Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
NAEHAFLY=UAYSTR— N 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0
3221/ L=< Ib—~FH > 1 1 1 1 0 0 0 1 1 0 1 230 0 230 2900 0 2900 3130
Wi ~xvoysy=rysgy R 0 1 1 0 0 0 0 0 1 0 1 0 0 0 7 0 7 7
W11, 2, 4—RYEYNYANLRVEET, 0 1 1 0 0 0 0 0 1 0 1 0 0 0 1 0 1 1

2 —#KY
405|1F 5 =S 1 2 2 0 1 0 0 1 2 0 2 0 220 220 476 0 476 696
AR LT ILTE R 1 0 1 0 1 0 0 1 0 0 0 0 44 44 0 0 0 44
N2(v v HYRUCEDILEY 1 1 1 0 1 0 0 1 1 0 1 0 10 10 5900 0 5900 5910
N3(HAKT 5 IVEE 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Nn4lmAK< LA VR 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER

1. BRH - BEPERIOKE (LPE - E2IX)
x®1-4 #HMEFRR - =EH
(4 / 4R—=%)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
A
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg | am | SEF | wm | mn | e | BEn | TR an |V
B e
415\ & & Y LB 0 1 1 0 0 0 0 0 1 1 0 0 0 13 0 13 13
ATNXE Y IVEE2, 3—TRF>TOENL 0 1 1 0 0 0 0 0 1 1 0 0 0 2 0 2 2
418 {&9'})[/@2‘2— (AFINVTZ)) ITF 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
)

29X 5 LY LB LI —TFIL 0 1 1 0 0 0 0 0 1 1 0 0 0 5 0 5 5
420\ X & 5V JLEEX F L 0 1 1 0 0 0 0 0 1 1 0 0 0 0 0 0 0
38X FIFTH LY 5 1 5 5 0 0 0 5 1 1 323 0 323 2 0 2 347
12|12 = X WATRRYIFTI—) 0 1 1 0 0 0 0 0 1 1 0 0 0 13 0 13 13
m3ley 7y RUEOIEY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B2|1YABERNY) — LS IL—TFIL 0 1 1 0 0 0 0 0 1 1 0 0 0 4 0 4 4
= 46 74 101 4 6 0 0 47 74 80 72326 322 72647 672247 1713 673960 746607

PRHFE « TAS1FE




ORHHHERUBHEDOTRIEEMEREETER
1. B - BEEROKET (LR - 5HEG - ArEREIEE)
£1—-4 FEFER - £33
(1 /1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
b7
T K3 =
nE WEE s | oo | en | ke | ok | tm | ma |as | 2 | & |2st]| x5 | 28F | tm | s | a2t | B®2 | Ko | a#
48X FILFTILY 8] o 8 8 of of of 8 of of o 191 0 0 0 191 0 0 0 191
ﬁé-l- 8 0 8 8 0 0 0 8 0 0 0 191 0 0 0 191 0 0 0 191

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER

1. BRH - BEERIOKET (LRR - T3R5 v /RERER)
x®1-4 #HMEFRR - =EH
(1/1R=%)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg g | A | B8P | o | | aw (220 TR an |
E BE
7oV ILBROTDKEMEE 1 1 1 1 0 0 0 1 1 1 200 200 9200 0 9200 9400
IN7o LB/ LI —TFI 1 1 1 1 0 0 0 1 1 1 36 36 3500 0 3500 3536
NFPUFEVRUZDILEY 0 1 1 0 0 0 0 0 1 1 0 0 240 0 240 240
BlzFirvEy 3 3 3 3 0 0 0 3 3 3| 35010 35010 9451 0 9451 44461
80| Ly 3 3 3 3 0 0 0 3 3 3| 47060 47060| 22059 o] 22059 69119
239|512 X (L& 1 1 1 1 0 0 0 1 1 1 4 4 120 0 120 124
2B ¥ UHE 1 1 1 1 0 0 0 1 1 1| 0.0035 0.0035 73 0 73| 73.0035
5| RFUILEREEF R Y A 0 1 1 0 0 0 0 0 1 1 0 o| 40000 o| 40000 40000
276|3, 6, 9—NYTHIVFAY—-1, 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
lT?7E>(%%?FEI%D>&>9

277 ;;Ig-”,)vsy 1 1 1 1 0 0 0 1 1 1 43 43 72 0 72 115
2961, 2, 4—NYAFIRVEY 3 3 3 3 0 0 0 3 3 3 4270 4270 13376 o| 13376 17646
297(1, 3, 5= hNUAFIRVEY 3 3 3 3 0 0 0 3 3 3 1281 1281 6289 0 6289 7570
300( M LT Y 3 2 3 3 0 0 0 3 2 2| 37400 37400| 15110 o| 1s110[ 52510
305 (581 &1 0 1 1 0 0 0 0 0 1 1 0 0 440 0 440 440
W6[=TF o) ILEBEAFHAFL Y 0 1 1 0 0 0 0 0 1 1 0 0 270 0 270 270
320/ =)o) —JL 1 1 1 1 0 0 0 1 1 1 27 27 43 0 43 70
349z — 1 1 1 1 0 0 0 1 1 1 1 1 1 0 1 1
BT HIVEBER (2—ITFILAFII) 1 1 1 1 0 0 0 1 1 1 480 480 33000 0 33000 33480
32/ I —~FHY 2 2 2 2 0 0 0 2 2 2 541 541] 19160 o] 19160 19701
AR LTILTFE R 1 1 1 1 0 0 0 1 1 1 54 54 75 0 75 129
BB(XFIFTHL Y 1 0 1 1 0 0 0 1 0 0 42 42 0 0 0 42
M4, 47 —XFLYSTZYY 0 1 1 0 0 0 0 0 1 1 0 0 1700 0 1700 1700
460(V) ABE N MY 1 1 1 1 0 0 0 1 1 1 19 19 66 0 66 85
A5t 28 s  34f 28 0 0 o| 28 3 31| 126467 126467 174172 o] 174172[ 300639

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER
1. BEH - BEVERIOSRET (WMR - TLoRAEIES)
®1-4 WERFRG - EEH

1/ 1R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
it
E | T Tkt Eﬁ%
7 9a
we B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
&S | @ A B

BlrFRVEY 1 1 1 1 0 0 0 1 1 0 6700 6700 330 0 330 7030
g0l Ly 1 1 1 1 0 0 0 1 1 0 11000 11000 480 0 ag0[ 11480
30| ML 1 1 1 1 0 0 0 1 1 0 24000 24000 1700 0 1700 25700
84|11 —7JoE 7Oy 1 0 1 1 0 0 0 1 0 0 1700 1700 0 0 0 1700
BIXFINFTEHLY 1 0 1 1 0 0 0 1 0 0 6 6 0 0 0 6
55t 5 3 5 5 0 0 0 5 3 0 43406 43406 2510 0 2510 45916

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOKE (LWRR - 2O LE - %M - BREEXR)

®1—4 EERFER - EE5
1/ 1R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
it
T K3 AE
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
s m | W BD
87|/ O ARO=EY O LEEY 1 1 1 0 1 0 0 1 1 0 1 0 23 0 0 23| 10000 ol 10000] 10023
186|sOOxdy (REEILXFLY) 1 1 1 1 0 0 0 1 1 0 1| 12000 0 0 o| 12000] 4200 o] 4200 16200
30| ML 2 1 2 2 0 0 0 2 1 0 1 2500 0 0 0 2500 1 0 1 2501
5[ 4 LEEE R (2 —TFIAFII) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 42 0 42 42
WMIAFLVER (4, 1—7xz=LV) =Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1YSTR—b
= 4 4 6 3 1 0 0 4 4 0 4 14500 23 0 0 14523 14243 0 14243 28766

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEIERIOSKE (LRR - B - TARBEER)

®1—4 EERFER - EE5
1/ 1R=%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
-1
B K& Ejj%
T Tk AE
we B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
&S m| & ’ B
2002—73)xT9/)—)b 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 35 0 35 35
W|EETILFIRYEYRIWKAVBBROZFD 0 3 3 0 0 0 0 0 3 2 5 0 0 0 0 0 116 2 118 118
B (FLEVEQREHN10HL 14
CRLEDRVZDEEMICRS, )
el s — 5% 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
07|2, 6—V—H—SvY—TFFI—4—4 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 13 0 13 13
LY -
v2AFT75L v 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
305|881 &Y 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1900 0 1900 1900
MRS 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 4 0 4
349|51 ) —)L 1 0 1 1 0 0 0 1 0 0 0 1500 0 0 0 1500 0 0 0 1500
374 3 o L KER O F DACRIELE 1 7 9 1 0 0 0 1 7 3| 10 30 0 0 0 30| 11693 102| 11795 11825
438 X FFTHL Y 1 0 1 1 0 0 0 1 0 0 0 1 0 0 0 1 0 0 0
=0 3 14 22 3 0 0 0 3 14 5 19 1531 0 0 0 1531 13761 104 13866 15396

PRHFE « TAS1FE



OBELBIHERUVBHEONRILFMERIRFHER
1. HEH - BEERIDEET (LR - $kel3€)

®1—4 EERFER - EE5
1/ 1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
e
i B £ it | Bm | 20 | x5 | ok [ 1w | e | an % § an | xm [ 5P| s | mx | am | E®D ng aar | O
87|/ O LRUV=Ms OLtED 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 130000 0 130000 130000
M AV RTEDED 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
3|2y TFEYROGZDIEY of o i of of of of of of of o 0 0 0 0 0 0 0 0 0
55t 0 1 3 0 0 0 0 0 1 0 1 0 0 0 0 0 130000 0 130000 130000

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER

1. BRH - BEERIORE (LMR - FHEREIESR)
x®1-4 #HMEFRR - =EH
(1/1R=%)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
A
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % § an | xm [ 5P| s | mx | am | E®D z%a]ﬁ aar | O

a1 VT m ARVZDIEEAY 1 0 1 1 0 0 2 0 0 34 0 0 0 34 0 0 0 34
|l LYy 1 0 1 1 0 0 1 0 0 29 0 0 0 29 0 0 0 29
87| O LA RV=(l2 O LAY 1 2 2 0 0 0 1 2 0 0 0 0 0 0 705 0 705 705
88|75 O b &1 0 1 1 0 0 0 0 1 0 0 0 0 0 0 830 0 830 830
132|380 R RUZ DAY 0 1 1 0 0 0 0 1 0 0 0 0 0 0 16 0 16 16
296|1, 2, 4— FNYXAFIRVEY 1 0 1 1 0 0 1 0 0 32 0 0 0 32 0 0 0 32
308[=w L 0 1 1 0 0 0 0 1 0 0 0 0 0 0 210 0 210 210
309[= w 7 L& 1 0 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0
374 3 > (KRR O Z DKRMEE 1 1 2 0 0 0 1 1 0 0 15 0 0 15| 75000 ol 7s000] 75015
4|11 —7JoE Oy 1 1 1 1 0 0 1 1 0 600 0 0 0 600 3600 0 3600 4200
a2l Y HY RUZFDIAY 0 1 1 0 0 0 0 1 0 0 0 0 0 0 52 0 52 52
s3|lEy TFEYRUGZOEEY 0 1 1 0 0 0 0 1 0 0 0 0 0 0 30 0 30 30
A&t 7 9 14 4 0 0 8 9 0 695 16 0 0 m 80443 0 80443 81154

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER

1. B - BEIERIOSKE (LRR - ERRETER)
x®1-4 #HEFER - FEH
1/ 1R=2)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg g | A | B8P | o | | aw (220 TR an |
E BE
1@ DK AL E Y o[ o] 2l o 2] o of 2] o 0 0 31 31 0 0 0 31
BlZFILRVEY al 3] a4l 4] o of of 4] 3 3| 4400 0 aq00[ 4130 of 4130[ 8530
nises—5 of of e of of of of of o 0 0 0 0 0 0 0 0
8ol Ly sl 3[4 4] o of o 4] 3 3 9100 0 ot00| 6540 of es40f 15640
82[8R R U E DAL EY 1 1 2 0 1 0 0 1 1 2 0 6 6 44 3 47 52
87[/ O ARV =flY A LLEY 2 2 3 0 2 0 0 2 2 2 0 15 15 910 0 910 925
88|/~ O LEE 1 1 3 0 1 0 0 1 1 1 0 1 1 0 0 0 1
14lmiks 7 LAY GEERUVS T VEREE s| 4] 5| of 8] of of 3] 4 5 0 15 15| 1990 1 1992| 2007
1%@7L;x&y(%gﬁmx}py) 1 of 1 of o] o 0 of 4000 0 4000 0 0 of 4000
2602l MO0 FL YV 1 1 1 1 0 0 0 1 1 1 10000 0 10000 2900 0 2900 12900
2|SRKAME (SEEAKRC, ) 1 of of of o] 1 0 0 0 3 3 0 0 0 3
21| 7O00xTFL YV 3 2 3 3 0 0 0 3 2 2 32500 0 32500 1790 0 1790 34290
2961, 2, A—RKNUYAFIRVEY 1 0 1 1 0 0 0 1 0 0 1400 0 1400 0 0 0 1400
300| ML 7 6 7 7 0 0 0 7 6 6 11220 0 11220 8380 0 8380 19600
308|= v oL of of e of of of of of o 0 0 0 0 0 0 0 0
309 = rILEEY 5 6 7 0 5 0 0 5 6 7 0 367 367 6250 240 6490 6857
374| 3 2 (b KRR T Z DKAMELE R S 1 0 128 128 3 0 3 131
‘4|11 —7JoEFO/y 1 1 1 1 0 0 0 1 1 1 2400 0 2400 50 0 50 2450
395[= LA F Y ZHER D AR of o] 1 of of of of of o 0 0 0 0 0 0 0 0
40513 5 =ILSY 2 1 2 0 2 0 0 2 1 1 0 428 428 4 0 4 432
MN2(v v HYREEDILEY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
43| X FIIFTHIL Y 1 0 1 1 0 0 0 1 0 0 16 0 16 0 0 0 16
slxFLYER (4, 1—7z=LY) =Y of of 2| of of of of of o 0 0 0 0 0 0 0 0
AV T7R—h
=0 43 32 67 23 20 0 0 43 32 35 75036 995 76031 32991 244 33235 109266

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - BEIERIORS (UMR - —BBmSRRREX)
x®1-4 #HMEFRR - =EH
(1/17R=v)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
e
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % § an | xm [ 5P| s | mx | am | E®D E;%ﬁ aar | O

NP FEYRCZEDILEY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BZFILRVE Y 4 3 4 4 0 0 4 3 0 7550 0 0 0 7550 1145 0 1145 8695
80|1xF> LV 8 5 8 8 0 0 8 5 0 37000 0 0 0 37000 2890 0 2890 39890
296|1, 2, 4— FNYXAFIRVEY 1 1 1 1 0 0 1 1 0 1900 0 0 0 1900 30 0 30 1930
30| ML 9 7 9 0 0 9 7 0 17630 0 0 0 17630 7175 0 7175 24805
309|= v # Lt 1 1 1 0 0 0 1 1 0 0 1 0 0 1 10 0 10 "
8411 —JoEFO/sy 2 2 3 2 0 0 2 2 0 1500 0 0 0 1500 2560 0 2560 4060
N2(v v HYRUCEDILEN 1 1 1 1 0 0 1 1 0 50 0 0 0 50 170 0 170 220
BIXFINFTEHLY 1 0 1 1 0 0 1 0 0 61 0 0 0 61 0 0 0 61
55t 27 20 29 26 0 0 27 20 0 65691 1 0 0 65692 13980 0 13980 79672

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - BEIERIORE (LRR - EXBMHERRER)
x®1-4 #HMEFRR - =EH
(1/2/R=Y)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
e
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg g | A | B8P | o | | aw (220 TR an |
B e
20012—73/x%)—)L 1 2 2 1 0 0 0 1 2 0 200 0 0 0 200 25600 0 25600 25800
N|FYFEYRCEDILESY 0 2 2 0 0 0 0 0 2 0 0 0 0 0 0 325 0 325 325
BlrFiryvEy 5 3 5 5 0 0 0 5 3 0 11150 0 0 of 11150 5100 0 5100] 16250
HlTFLYSTIY 1 1 1 1 1 0 0 2 1 0 98 120 0 0 218 1100 0 1100 1318
NS E=8% 0 1 4 0 0 0 0 0 1 0 0 0 0 0 0 13000 0 13000 13000
80|F LY 8 4 8 8 0 0 0 8 4 0 15710 0 0 0 15710 15552 0 15552 31262
82|8R R O 7 DACAMEAL S 0 1 2 0 0 0 0 0 1 0 0 0 0 0 0 140 0 140 140
132|391 K RUZDIEEY) 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
144|mies 7 LAY GEEROL T UBkEE 1 0 1 0 1 0 0 1 0 0 0 2 0 0 2 0 0 0 2
213N, cN—~‘/“)( FIL7EMNT7IR 2 2 2 2 0 0 0 2 2 0 65 0 0 0 65 10900 0 10900 10965
232N, N=UXFIHKILLTI R 1 1 1 1 0 0 0 1 1 0 460 0 0 0 60| 38000 ol 3s000] 38460
240( 2 F L v 2 2 2 2 0 0 0 2 2 0 3840 0 0 0 3840 390 0 390 4230
%8(1, 3, 5, 7T—FrSTFHRrYSHO [ 0 1 1 0 0 0 0 0 1 0 0 0 0 0 0 220 0 220 220
3.3.1.1 (3, 1)]IFAy (B4
ANEHAFLYTESIIY)

265|7 RSt ROXFILEKT & ILEE 0 1 1 0 0 0 0 0 1 0 0 0 0 0 0 460 0 460 460
2ERAKRME (BEEAERRL, ) 2 4 5 0 2 0 0 2 3 3 0 460 0 0 460 8910 80 8990 9450
21|y OO0 FL YV 1 0 1 1 0 0 0 1 0 0 3700 0 0 0 3700 0 0 0 3700
26|11, 2, 4—NYXFILRVEY 4 1 4 4 0 0 0 4 1 0 5705 0 0 0 5705 6800 0 6800 12505
29711, 3, B=hNUXFIRVEY 2 1 2 2 0 0 0 2 1 0 1250 0 0 0 1250 1800 0 1800 3050
30| MJLT Y 7 4 7 7 0 0 0 7 4 0 16115 0 0 0 16115 4980 0 4980 21095
02|+ 74 LY 1 1 1 1 0 0 0 1 1 0 1500 0 0 0 1500 5300 0 5300 6800
304|%R 1 1 2 0 1 0 0 1 1 0 0 6 0 0 6 630 0 630 636
30550 1L&2 4 0 1 1 of of of of o 1 0 0 0 0 0 0 12 0 12 12
309 =w rILEEY 1 5 5 0 1 0 0 1 5 1 0 50 0 0 50 775 8 783 833

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER

1. B - BEERIDEE (LMER - B REER)
x®1-4 #HEFER - FEH
(2 / 2R=Y)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
e
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg g | A | B8P | o | | aw (220 TR an |
B e
REX] il N BBV 1 1 1 1 0 0 0 1 1 0 1 2 0 0 0 2 1900 0 1900 1902
mleosFa— (RE&AFI—I) 1 2 2 1 0 0 0 1 2 0 2 14 0 0 0 14 1970 0 1970 1984
M7/ —IL 1 1 1 1 0 0 0 1 1 0 1 280 0 0 0 280 3000 0 3000 3280
3743 o (L KB RO T DA al 2| 6] 4l o of of 4] 2f of 2 1205 0 0 o  1205] 62400 o| 62400 63605
384|1 —TOEFO/NSY 1 1 1 1 0 0 0 1 1 0 1 4900 0 0 0 4900 770 0 770 5670
395[~< )L of £V B D KCRMEE 0 1 al o of of o o 1 0 1 0 0 0 0 0 110 0 110 110
405|1F 5 =L EW 0 2 2 0 0 0 0 0 2 1 3 0 0 0 0 0 3124 630 3754 3754
MK LTILFE R 0 2 2 0 0 0 0 0 2 1 3 0 0 0 0 ol 14003 12| aers| 14015
M\ VARV FDILLEY 1 1 2 0 1 0 0 1 1 0 1 0 4 0 0 4 1400 0 1400 1404
w8lxFL+ro41L Y 8 3 8 8 0 0 0 8 3 0 3 1544 0 0 0 1544 7210 0 7210 8754
Ml xFLYEZR (4, 1—T1=LY) = 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1YSTER=b
m3ley 7y ROETOIEY 3 3 3 0 3 0 0 3 3 0 3 0 159 0 0 159 142 0 142 300
w2y B Y — LT I—TFI 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 230 0 230 230
= 60 59 95 51 10 0 0 61 58 6 64 67738 800 0 0 68538 236253 730 236983 305521

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER

1. BRH - BENERIORE (LPR - EXAMmERERER)
x1 -4 #MEBERFRH - XEH
(1/17R=v)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
HR -7
B KE Eij%
T K3 =1
g ME £ gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
= L i &
@ oKL EY 1 2| 2 o 1 of o 1 of of 2 0 36 0 0 36| 1500 of 1500 1536
7Py FEYRUZDILEY 1 AE 1 of of o 1 o of 2 4 0 0 0 4l 2320 of 2320 2324
BlrFi~vEy 1 0 1 1 of of o 1 of of o 2100 0 0 of 2100 0 0 0 2100
B s 5 of o 1 of of of of of of of o 0 0 0 0 0 0 0 0 0
80|F LY of of 3l 2| of of of 2f of of of 2w 0 0 of 2101 0 0 0 2101
8|7 A LRU=MY OLLEY 1 2 5 1 0 0 0 1 2 0 2 4 0 0 0 4l 2970 o] 2970 2974
188|N, N—Uo/OAFIIT IV 0 1 1 of of of o of o 1 1 0 0 0 0 0 0 3 3 3
I EZE T DS of o 1 of of of of of of of o 0 0 0 0 0 0 0 0 0
28(1, 3, 5, 7—-FrsFHRrYLHO[ 1 1 1 1 of of o 1 1 0 1 10 0 0 0 o[ 5900 of 5900 5910
3. 3. 1. 1(3,7)]17Aav (Bl
NEYAFLYTESIY)
a1y zFLT Y 1 0 1 1 of of o 1 of of o 1100 0 0 of 1100 0 0 0 1100
300| ML 2 0 2 2 0 0 0 2 0 0 0 2260 0 0 0 2260 0 0 0 2260
305[581E A 0 1 1 of of of of o 1 0 1 0 0 0 0 of 1800 of 1800 1800
308|= v &L 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
39|97 J— )L 1 1 1 1 0 0 0 1 1 0 1 2 0 0 0 2 1400 0 1400 1402
MV AV RTEDEED 3 5 8 2 1 0 0 3 5 0 5 51 44 0 0 95 28230 of 28230 28325
4B FLFTILY of of 2l 2] of of of 2f of o o 59 0 0 0 59 0 0 0 59
M(AFLVYER (4, 1—T7z=LY) =¥ 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1VT7x—h
53|E Y TRV RUEDILESY 1 1 2 1 of of o 1 1 0 1 1 0 0 0 1 680 0 680 681
=0 17 16 39 15 2 0 0 17 15 1 16 7692 80 0 0 7772 44800 3 44803 52575

HHEE  TRIINEE




OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (LWRER - BB SRERESR)

®1—4 EERFER - EE5
1/ 1R=%)

e BEERFE (W) () BRI (1) Bt B8 (ko/ 447 414573 dng-TEQ/ ) BRI ko/TES SV
aa%dg
e B £ s e | 2 | nm | oo e |omer | mor | B | K [en| xm | 288 | 1w | mn | aw [ BRR | TT | aw | 7
w | & B

S6lTFLVvAES R 1 1 1 1 0 0 0 1 1 0 1 1 0 0 0 1 110 0 110 m
87| O LARUV=M Y O LEEW 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 710 0 710 710
186 sOOxd Yy (BLEIEXFLY) 2 1 2 2 0 0 0 2 1 0 1| 39000 0 0 of 39000] 12000 of 12000 51000
30| ML 2 2 2 2 0 0 0 2 2 0 2 1330 0 0 0 1330 1190 0 1190 2520
308|=w )L 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 150 0 150 150
374 3 > b KB RO Z DK A MEE 0 1 1 0 0 0 0 0 1 1 2 0 0 0 0 0 3900 5 3905 3905
Mw v HYRUZDEEY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 19 0 19 19
55t 5 8 9 5 0 0 0 5 8 1 9 40331 0 0 0 40331 18079 5 18084 58414

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEIERIOSKE (LRR - T0MmORIER)

®1—4 EERFER - EE5
1/ 1R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
Hits- 15
B K& @%
T K3 AE
we B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
&S m | & ’ BH
374, 4’ —qvyFaOYFyT I /=) 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(BlEERT7T/—I)LA)

o[+ LY 1 0 1 1 0 0 0 1 0 0 0 2600 0 0 0 2600 0 0 0 2600
186(CroOx4y (RLZELEAFLY) 1 0 1 1 0 0 0 1 0 0 0 1900 0 0 0 1900 0 0 0 1900
300| ML 1 0 1 1 0 0 0 1 0 0 0 4300 0 0 0 4300 0 0 0 4300
3R/ —~xH Y 1 0 1 1 0 0 0 1 0 0 o] 14000 0 0 ol 14000 0 0 o] 14000
= 4 0 5 4 0 0 0 4 0 0 0 22800 0 0 0 22800 0 0 0 22800

PRHFE « TAS1FE



OBELBIHERUVBHEONRILFMERIRFHER
1. e - BEERIDOEET (LWFE - BXE)

®1—4 EERFER - EE5
1/ 1R=%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v

o

e B £ s e | 2 | nm | oo e |omer | mor | B | K [en| xm | 288 | 1w | mn | aw [ BRR | TT | aw | 7

w | # BE

BlrFRVEY 1 0 1 1 0 0 0 1 0 0 0 1000 0 0 0 1000 0 0 0 1000
80| LYV 1 0 1 1 0 0 0 1 0 0 0 1400 0 0 0 1400 0 0 0 1400
20| 2 F L v 1 0 1 1 0 0 0 1 0 0 0 2400 0 0 0 2400 0 0 0 2400
00| ML Y 1 0 1 1 0 0 0 1 0 0 0 1200 0 0 0 1200 0 0 0 1200
48| XFIF 7LV 1 0 2 1 0 0 0 i 0 0 0 26 0 0 0 26 0 0 0 26
55t 5 0 6 5 0 0 0 5 0 0 0 6026 0 0 0 6026 0 0 0 6026

PRHFE « TAS1FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (WRER - TKER)

®1—4 EERFER - EE5
1/ 2R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
P75
B K& Eﬁ%
T K =K
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= wo| & B
1| FERD KBS 25 0 33 0 25 0 0 25 0 0 0 0 3042 0 0 3042 0 0 0 3042
BlO—ITFI=0—-4—=—rATT=)=T 3 o 33 0 3 0 0 3 0 0 0 0 13 0 0 13 0 0 0 13
IZWKRRBR/FAT—b (BIBZEPN)
BlHRIYARVCZEDILESY 3 of 33 0 3 0 0 3 0 0 0 0 2 0 0 2 0 0 0 2
87[/ O ARV =l A LLEY 4 o| 33 0 4 0 0 4 0 0 0 0 31 0 0 31 0 0 0 31
88|75 O b &1 3 0 33 0 3 0 0 3 0 0 0 0 16 0 0 16 0 0 0 16
m|2—s00—-4, 6—EX (ZFILT7ZI/ 2 of 33 0 2 0 0 2 0 0 0 0 1 0 0 1 0 0 0 1
) =1, 3, 6=r YFPTY (REAYTY
YXIFCAT)
44|87 Y GEERUVY 7 URRIES 3 of 33 0 3 0 0 3 0 0 0 0 38 0 0 38 0 0 0 38
<
147|N, N=YIFILFAHAINIVES—4 3 o 33 0 3 0 0 3 0 0 0 0 3 0 0 3 0 0 0 3
—ooany Il (REZFANYAILTX
BV FAH—T)
149|miE{b k= 1 0 33 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
15011, 4 -y AxH> 3 0 33 0 3 0 0 3 0 0 0 0 7 0 0 7 0 0 0 7
15711, 2—-v4sO0T49 Y 2 0 33 0 2 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0
158|1, 1—vsO00xFLYy (A&EkE= 3 0 33 0 3 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0
UTv)
159~ 2—1, 2—=YooOTFLY 3 of 33 0 3 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0
179(1, 3—voon7 o~y (A4&D—-D) 1 ol 33 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
186 rooxsyy (REEEXFLY) 5 o 33 0 5 0 0 5 0 0 0 0 3 0 0 3 0 0 0 3
237|KEERVCZFDILEY 2 ol 33 0 2 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0
2L Y RUTCZFDIEEY 3 of 33 0 3 0 0 3 0 0 0 0 2 0 0 2 0 0 0 2
262| NZyOO0TFL YV 2 0 33 0 2 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0
268|F hSAFINFISLIRILT 4R (RI%| 2| of [ of o 2f of of 2f of of o 0 1 0 0 1 0 0 0 1
FUSLREFSL)
BRACAMEE (BEEARRL ., ) 11 ol 33 ol 1 0 ol 0 0 0 0 155 0 0 155 0 0 0 155
2911, 1, 1—NYsOoQxT¥%dy 2 0 33 0 2 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0

PRHFE « TAS1FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (WRER - TKER)

®1—4 EERFER - EE5
(2 / 2R—%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v

e

e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg | am | SEF | wm | mn | e | BEn | TR an |V

B e

28011, 1, 2—MNYsoOoQxT¥dYy 2 0 33 0 2 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0
21|y o0 xTFL YV 3 0 33 0 3 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0
305|881 &4 4 o] 33 0 4 0 0 4 0 0 0 0 18 0 0 18 0 0 0 18
332 R RO 7 DEHRL ) of of 33| of of of of of o of o 0 177 0 0 177 0 0 0 177
3743 5 (LK ER U E DARIEE s o] 33 ol 15| of of 5| o] o] 0 of 7954 0 of 7954 0 0 0 7954
100RVEY 3 0 33 0 3 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0
405|1F 5 =L EW 23 0 33 0 23 0 0 23 0 0 0 0 8980 0 0 8980 0 0 0 8980
406|R)BIEEZ =)L (BI&PCB) 2 ol 33 0 2 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0
M\ VARV FDILLEY 22 0 33 0 22 0 0 22 0 0 0 0 2066 0 0 2066 0 0 0 2066
55t 169 0 990 0 169 0 0 169 0 0 0 0 22611 0 0 22611 0 0 0 22611

PRHFE « TAS1FE



OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEIERIOSKE  (LRR - AMEER)

®1—4 EERFER - EE5
1/ 1R=%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v

ﬁ%ﬁg

e B £ s e | 2 | nm | oo e |omer | mor | B | K [en| xm | 288 | 1w | mn | aw [ BRR | TT | aw | 7

w | B

BlrFRVEY 1 0 1 1 0 0 0 1 0 0 0 120 0 0 0 120 0 0 0 120
o[+ LY 1 0 7 1 0 0 0 1 0 0 0 460 0 0 0 460 0 0 0 460
206(1, 2, 4—=KNYXFIRVEY 1 0 7 1 0 0 0 1 0 0 0 110 0 0 0 110 0 0 0 110
297(1, 3, B=KUAFIRVEY 1 0 1 1 0 0 0 1 0 0 0 5 0 0 0 5 0 0 0 5
30| ML 1 0 1 1 0 0 0 1 0 0 0 3700 0 0 0 3700 0 0 0 3700
32|/ LTI —AFHY 1 0 1 1 0 0 0 1 0 0 0 6900 0 0 0 6900 0 0 0 6900
400IRVE Y 1 0 1 1 0 0 0 1 0 0 0 660 0 0 0 660 0 0 0 660
438X FILFTHL Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A&t 7 0 20 7 0 0 0 7 0 0 0 11955 0 0 0 11955 0 0 0 11955

PRHFE « TAS1FE



OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEIERIOSKE  (LBR - MBINESR)

®1—4 EERFER - EE5
1/ 1R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i

%%;

e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg it | xm |88 | wm | me | an [BER | T aw |

E BE

BlrFrixvey 66| of 17| 1ee] o] o] o] e[| of o e 267 0 0 0 267 0 0 0 267
|l LYy 170 0| 204] 170 0 0 o] 170 0 0 0 1058 0 0 0 1058 0 0 0 1058
26(1, 2, 4— NYXFIRVEY 69]  of 207 1eo] o] o] o] e[ of o e 256 0 0 0 256 0 0 0 256
29711, 3, B5—=hNUXFIRVEY 48 0 91 48 0 0 0 48 0 0 0 5 0 0 0 5 0 0 0 5
300| M LT Y ol o] | o] o] o] o] o] o] of o eem 0 0 of  eea 0 0 of  ee3
32| /LI —AFH Y o] o] | o] o] o] o] e[ o] of o 20268 0 0 of 20268 0 0 of 20268
40|~y ¥y 66| of e8] 1ee] o] o] of es| o o o s 0 0 of 1847 0 0 of 1847
asxFLFroaL Y of o ] o o o o of of of o 0 0 0 0 0 0 0 0 0
e 1os]  of 11eo] 1ose] o o] of 1ose] o] o] o 3te: 0 0 of 31932 0 0 of 31032

PRHFE « TAS1FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (LWRR - BEIEEFESR)

x®1-4 #HEFER - FEH

1/ 1R=2)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BIE Ko/ T v
B 75
B K& Ej}%
T K3 =5
i1 M gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
5 m | @ B
|F LYV 1 0 1 1 0 0 0 1 0 0 0 1100 0 1100 0 0 0 1100
300| LT Y 1 0 1 1 0 0 0 1 0 0 0 1700 0 1700 0 0 0 1700
A&t 2 0 2 2 0 0 0 2 0 0 0 2800 2800 0 0 0 2800

PRHFE « TAS1FE




OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (LWRER - —RERMUER (THLDEICRD, ) )

®1—4 EERFER - EE5
1/ 2R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
B
B K& Ejj%
T Tk =5
g WHET s [ mm [ op | xm | ok | m s | ent | 2= | Kk |en| s | B8P | 1w | mx | ax [EFZ| o | ewm
s w | & B
@ iati ey 1 o of 7| o of [ of o o 0 3 0 0 3 0 0 0 3
slo—TF)IL=0—-4—=—rOTz=)=7 3 of 1 0 3 0 0 3 0 0 0 0 4 0 0 4 0 0 0 4
IR/ FATZ—h (BIBREPN)
75|41 K3 Y ARCZDIEEAY 1 of 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
87|17 O LRU=ff7 O LEEY 3| o M of 3 0 0 3] o] 0 0 0 1 0 0 1 0 0 0 1
88|51~ O L LAY s[ o] of 3] of of 3 of of o 0 i 0 0 1 0 0 0 i
m|2—s00—-4, 6—EX (ZFILT7ZI/ 0 of n 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
) =1, 3, 5-hUTIY (BEYTY
YRIFCAT)
walmigs 7oA EEROC T UBEE| 9| o 1| o 9 o o 3 o o o 0 3 0 0 3 0 0 0 3
<
147N, N=STFLFAHINIVES—4 0 ol 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
—ooany Il (REZFANYAILTX
BNV FAH—T)
149|miE{b k= 0 0 11 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
15011, 4 -y AxH> 2 0 1 0 2 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0
15711, 2—voonTdy 0 ol 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
158(1, 1—vosonTFLy (RaEEE= 0 of 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
UTv)
159lv2—1, 2—vsO0TFLY 0 ol 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
179(1, 3—-vsnn7Oo~xy (B1&D—-D) of of m of of of of of of of 0 0 0 0 0 0 0 0 0 0
186 ronx4y (RLEIEAFLY) 1 ol 1 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
237|KEB RV Z DL of o] 1 of of of of of of of o 0 0 0 0 0 0 0 0 0
22|12 L Y RUZDILAY 1 ol 1 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
2431 4" DL 16 9 18 9 9 0 1 19 8 1 9 56.669]0. 0300656 0 2700(2756. 6990 6200 0.009| 6200.009|8956. 7080
TAAFY R 81 65681 65681
2|7 hSHo/OO0TFL Y 0 of 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
28|75 hSXFAFISLURLTa R @& o of [ ol o of of o of o o 0 0 0 0 0 0 0 0 0
FIOTLRIEF T L)
2[sRAcREE (SEEAKRC, ) o[ o] 1 of 2 of of 2| of of o 0 0 0 0 0 0 0 0 0

PRHFE « TAS1FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (LWRER - —RERMUER (THLDEICRD, ) )

®1—4 EERFER - EE5
(2 / 2R—%)

REL RS EHTH) HEH 2 () BRI H() SR (ko/ 29" 4449V idng- TEQ/ ) BHE e/ IR
aa%dg
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg | am | SEF | wm | mn | e | BEn | TR an |V
B e

2911, 1, 1—KYsoOOxT¥dv 0 of n 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
28011, 1, 2—HNYsOpxT¥d%Yy 0 0 " 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
281y soO0TFL Y 0 of n 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
305|50ME &4 2 ol 0 2 0 0 2 0 0 0 0 0 0 0 0 0 0 0
3R|MERVZDER(ILSY 1 ol 1 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0
374 3 > b KB RO Z DK A MEE 5 ol 0 5 0 0 5 0 0 0 0 7 0 0 7 0 0 0
400XVt 0 0 n 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
405|1F 5 =S 9 0 " 0 9 0 0 9 0 0 0 0 60 0 0 60 0 0 0 60
406 1)k 7 =)L (B%LPCB) 0 of n 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
AMT VAV RTZDIEEY 7 0 n 0 7 0 0 7 0 0 0 0 76 0 0 76 0 0 0 76

A&t 66 9 348 9 59 0 1 69 8 1 9 0 155 0 0 155 0 0 0 155

PRHFE « TAS1FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (LWRER - EXEEVMLUL R (FIEEEXREERMLIZ 20, ) )

®1—4 EERFER - EE5
1/ 2R=%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
-1
B K& Ejj%
T Tk AE
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 w | B
T 6] o 8 o s 0 0 6| o] o 0 0 5 0 0 5 0 0 0 5
slo—TF)IL=0—-4—=—rOTz=)=7 3 0 8 0 3 0 0 3 0 0 0 0 1 0 0 K 0 0 0 "
IZIWVHRRK/FAT— b (BIBEPN)
75|h RIH ARVCZDILESY 3 0 8 0 3 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0
87[/ O ARV =l A LLEY 3 0 8 0 3 0 0 3 0 0 0 0 3 0 0 3 0 0 0 3
88|75 & O b &4 sl ol 8] of 3 0 0 3l o] 0 0 0 4 0 0 4 0 0 0 4
m|2—s00—-4, 6—EX (ZFILT7ZI/ 3 0 8 0 3 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0
) =1, 3, 5-hUTFIY BIBITY
YRIFCAT)
144|mie s 7 LS BEEROS 7 VEREE 3 0 8 0 3 0 0 3 0 0 0 0 " 0 0 1 0 0 0 "
<
147|N, N—=STFILFFHINIVEES —4 3 0 8 0 3 0 0 3 0 0 0 0 2 0 0 2 0 0 0 2
—ooany Il (REZFANYAILTX
ERYFFH—T)
149|miE{b k= 1 0 8 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
15011, 4 -y AxH> 5 0 8 0 5 0 0 5 0 0 0 0 8 0 0 8 0 0 0 8
15711, 2—voonTdy 1 0 8 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
158]1, 1—vosoO0TFL Y (BLElLE= 1 0 8 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0 1
UTv)
19> 2—1, 2—yyO0QxTFL YV 1 0 8 0 1 0 0 1 0 0 0 0 2 0 0 2 0 0 0 2
179(1, 3—vsnn7aRy (B4&D—D) 1 of 8 o 1 0 0 1 of o 0 0 0 0 0 0 0 0 0 0
186 ronx4y (RLEIEAFLY) 1 0 8 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0 1
B7[KERUZ DAY 0 of 8 o 0 0 0 of of o 0 0 0 0 0 0 0 0 0 0
22|12 L Y RUZDILAY 3 0 8 0 3 0 0 3 0 0 0 0 1 0 0 1 0 0 0 1
2434 DL 9 5 13 6 4 0 1 " 5 0 5 77.2210.0011108 0 58]135. 22111 619.67 0 619.67]754.89111
TAAF> A 87 0887 0887
22| hSH/OOTFL Y 1 0 8 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0 1
268[7 kS AFLFISLU2LT 4K B&| 3 o] e[ o e[ o of s[ o o o 0 1 0 0 1 0 0 0 1
FIOTLRIEF T L)
T2 [BRKAEE (SEEAER <, ) sl o] 8l o 3 0 0 3l o] o 0 0 3 0 0 3 0 0 0 3

PRHFE « TAS1FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (LWRER - EXEEVMLUL R (FIEEEXREERMLIZ 20, ) )

®1—4 EERFER - EE5
(2 / 2R—%)

e BEERFE (W) () BRI (1) Bt B8 (ko/ 447 414573 dng-TEQ/ ) BRI ko/TES SV
aa%dg
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg | am | SEF | wm | mn | e | BEn | TR an |V
E BE

2911, 1, 1—MNYoOoQxT¥dy 1 0 8 0 1 0 0 1 0 0 0 0 18 0 0 18 0 0 0 18
28011, 1, 2—HNYsOpxT¥d%Yy 1 0 8 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
B|rysoozFLy 1 of 8 o 1 0 0 1 of o 0 0 1 0 0 1 0 0 0 1
305581 &4 3 0 8 0 3 0 0 3 0 0 0 0 1 0 0 1 0 0 0 1
B2/ ERVZF DE-ILSY 3 0 8 0 3 0 0 3 0 0 0 0 1 0 0 1 0 0 0 1
374 3 > b KB RO Z DK A MEE 7 0 8 0 7 0 0 7 0 0 0 0 89 0 0 89 0 0 0 89
400IRVE Y 2 0 8 0 2 0 0 2 0 0 0 0 1 0 0 1 0 0 0 1
405|1F 5 =S 7 0 8 0 7 0 0 7 0 0 0 0 769 0 0 769 0 0 0 769
46Ky EIEET T (BIZPCB) 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A2l VAV RUZDIEEY 7 0 8 0 7 0 0 7 0 0 0 0 96 0 0 9% 0 0 0 96

A&t 89 5 253 6 84 0 1 91 5 0 5 0 1031 0 0 1031 0 0 0 1031

PRHFE « TAS1FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (LWRR - SFHERE)

®1—4 EERFER - EE5
1/ 1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
B
E | T Tk Eljijr
W= o | as = | a#m - - BEEY 28 - =
= MELT s | BB | 26 | x5 | ax | 1 | Ex | a3 k| a3 xS + 123 a% ) A%
12717 087KV A 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 4800 0 4800 4800
186|UsOOxyy (AEEEAFLY) 1 1 2 1 0 0 0 1 1 0 1 7800 0 0 0 7800 1200 0 1200 9000
3NR(/ITI—A~FHY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1500 0 1500 1500
ﬁ\g-f 1 3 4 1 0 0 0 1 3 0 3 7800 0 0 0 7800 7500 0 7500 15300

PRHFE « TAS1FE



